
Area 
1. Find the areas of the rectangles whose sides are:  

a. 3 cm and 4 cm     
b. 12 m and 21 m  
c. 2 km and 3 km     
d. 2 m and 70 cm 

 
2. The area of a rectangle garden 50 m long is 300 m2, find the width of the garden. 

     _____________________________________________________________ 

     _____________________________________________________________ 

     _____________________________________________________________ 

3. By splitting the following figures into rectangles, find their areas. (The measures 
are given in centimetres) 

 

 

 

 

  

4. How many tiles whose length and breadth are 12 cm and 5 cm respectively will be 
needed to fit in a rectangular region whose length and breadth are respectively?  
a. 100 cm and 144 cm  

__________________________________________________________ 

__________________________________________________________ 

b. 70 cm and 36 cm 

___________________________________________________________ 

___________________________________________________________ 


